WITH

SET [Rows] AS Axis(1)

MEMBER [Number of rows] AS [Rows].Count 

SET [1st Tuple on rows] AS {[Rows].Item(0)}

SET [Last Tuple on rows] AS {[Rows].Item( [Number of rows] - 1 )}

MEMBER [Number of Hierarchies on rows] AS [1st Tuple on rows].Item(0).Count
	-- cannot use [1st Tuple on rows].Count because that would give us tuple count (1),
	-- and we need hierarchy count for any tuple

SET [1st Member in last Hierarchy on rows] AS
	{[Rows].Item(0).Item([Number of Hierarchies on rows] - 1)}

MEMBER [Current Member in last Hierarchy on rows] AS
	[1st Member in last Hierarchy on rows].Item(0).Hierarchy.CurrentMember.Name

SET [Iteration set for tuple on rows] AS Head(Axis(1),Axis(1).Item(0).Count)

MEMBER [Current Tuple on rows] AS
	--post evaluate, cannot use StrToTuple of that and later refer using Item(0)
	"(" + Generate([Iteration set for tuple on rows] AS RN,
					"Axis(1).Item(0).Item(" +
					CStr(RN.CurrentOrdinal - 1) +
					").Hierarchy.CurrentMember",
					",") +
	")"

MEMBER [Row Number] AS 
	Rank(
		StrToTuple( [Current Tuple on rows] ),
		[Rows]
	   )


SET [Measures on columns] AS Extract(Axis(0), Measures)

MEMBER [1st Measure on columns value] AS [Measures on columns].Item(0)

MEMBER [1st Measure on columns name] AS [Measures on columns].Item(0).name

MEMBER [Rank of 1st measure on columns] AS
	Rank(
		StrToTuple( [Current Tuple on rows] ),
		[Rows],
		[1st Measure on columns value]
	   )
	, Format_String = "#,#" 

MEMBER [Current Measure position on columns] AS 
	Rank(Measures.CurrentMember, [Measures on columns])

MEMBER [Left Measure on columns name] AS 
	-- cannot refer to [Current Measure position on columns] because that is evaluated for that measure always!
	[Measures on columns].Item(
								Rank(Measures.CurrentMember, [Measures on columns]) - 1 - 1
							 ).Name

MEMBER [Right Measure on columns name] AS 
	-- cannot refer to [Current Measure position on columns] because that is evaluated for that measure always!
	[Measures on columns].Item(
								Rank(Measures.CurrentMember, [Measures on columns]) - 1 + 1
							 ).Name

MEMBER [1st/2nd measure on columns value] AS 
	[1st Measure on columns value] /
	[Measures on columns].Item(1), FORMAT_STRING = '#,##0.00'

MEMBER [Row % of 1st measure on columns] AS
	-- you can rather use Aggregate for not-calculated measures
	Sum( StrToTuple( [Current Tuple on rows] ), [1st Measure on columns value]) /
	Sum( [Rows], [1st Measure on columns value] )
	, Format_String = "percent" 
	


select 
{
--	debug,
	[Measures].[Sales Amount]
	, [Number of rows]
	, [Number of Hierarchies on rows]
	, [Current Member in last Hierarchy on rows]
	, [Row Number]
	, [Rank of 1st measure on columns]
	, [1st Measure on columns name]
	, [Current Measure position on columns]
--	, [Prev Measure position on columns]
	, [Left Measure on columns name]
	, [Right Measure on columns name]
	, [Row % of 1st measure on columns]
	, [1st/2nd measure on columns value]
} on 0,
{
	[Date].[Calendar].[Calendar Year].members * 
	[Product].[Product Categories].[Category]
	--[Date].[Calendar].ALLMEMBERS
} on 1
from
	[Adventure Works]

